

10/24/21

HW 13

$$\begin{aligned} \textcircled{1} \frac{1}{4} &= \text{arctan}(1) = \int_0^1 \frac{1}{1+x^2} dx = \int_0^1 \left(\sum_{n=0}^{\infty} (-1)^n \cdot x^{2n} \cdot \frac{(-1)^{n+1} \cdot x^{2n+2}}{1+x^2} \right) dx \\ &= \sum_{n=0}^{\infty} \frac{(-1)^n}{2n+1} + (-1)^{n+1} \left(\int_0^1 x^{2n+2} dx \right) \rightarrow 0 \leq \int_0^1 \frac{x^{2n+2}}{1+x^2} dx \leq \int_0^1 x^{2n+2} dx = \frac{1}{2n+3} \rightarrow 0 \end{aligned}$$

By squeeze theorem, $\frac{1}{4} = \sum_{n=0}^{\infty} \frac{(-1)^n}{2n+1}$

(1) (2) (3)

$$\begin{aligned} (2.) \quad \frac{\pi}{4} &= \arctan \frac{1}{2} + \arctan \frac{1}{3} \\ \arctan \frac{1}{2} = x, \quad \arctan \frac{1}{3} & \left. \begin{array}{l} \arctan \frac{1}{3} = y, \quad \arctan \frac{1}{4} \\ \end{array} \right\} \tan(A+B) = \frac{\tan A + \tan B}{1 - \tan A \tan B} \\ \Rightarrow \tan(A+B) &= \frac{x+y}{1-xy} = \frac{\frac{1}{2} + \frac{1}{3}}{\frac{5}{6}} = 1 \\ \tan(A+B) &= 1 \rightarrow \tan(A) = \frac{\pi}{4} \end{aligned}$$

(2.) Calculator answer: 2.67

$$\begin{aligned} (3.) \quad \frac{\pi}{4} &= 4 \arctan \frac{1}{5} - \arctan \frac{1}{239} \\ \tan^{-1} x &= x - \frac{x^3}{3} + \frac{x^5}{5} - \dots \\ \pi &= 16 \tan^{-1} \frac{1}{5} - 4 \tan^{-1} \frac{1}{239} = \underline{3.141} \quad \text{Calculator Answer} \end{aligned}$$

$$(4.) \quad \frac{128}{\pi^2} = 13 - \left(\frac{1}{2}\right)^2 \left(\frac{20 \cdot 50 \cdot 113}{20}\right) + \left(\frac{1}{2}\right)^4 \left(\frac{41 \cdot 91 \cdot 113}{231}\right) - \left(\frac{1}{2}\right)^6 \left(\frac{60 \cdot 132 \cdot 113}{231}\right) = \underline{\underline{128}}$$

$$= \frac{128}{\pi^2} \approx x \rightarrow \sqrt{x} \approx \pi \approx 3.14159 \rightarrow \text{Only the first term matches.}$$